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i ke ni zén me bu chi le
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— Grammar

A

1. HiE know

S+41iE+0 (Noun. /noun phrase / a sentence) +15?

Do you know

ni zht daozhe sud xuéxiao ma

) REMEIXFFFAIE? Do you know this school?

ni zhi dao zhe ge bu dianying ma
-
ERE 2157 Do you know this movie?

TSN
) RFIEIXAE
ni zhi dao xidowang jin tian shén me shi

) IRFE/NESRA AR ERFRG?

Do you know when Xiao Wang will come to school today?

hou 14 xué xiao ma

ni zhi dao zén me zu6zhdnggud cai ma
) fRAER AW B EHRG?
Do you know how to cook Chinese food?

ni zhi dao zén me qu zhdnggudchao shi ma

1’.]\%D]EILJ\/A\% I:FI lﬂj@ﬁiug?

Do you know how to get to the Chinese supermarket?

2. B4 how and why

1) B4 (1) +V.  “how”

zen me qu

zén me du zen me shud zén me xié zen me zud
/L,\/A-l?“ 70N A -LEE fEL‘..\/A\ 5 7oN ‘/Ajﬁi 7oN Ail:
How to read how to say how to write how to do how to go

2) KB4 (2) why =Aft4 Ask about the reason

S+E4+V./Adj. |

ni zén me bu gdoxing
a) IREAALRST? Why are you unhappy?

kdo shi bu tai hao shén ti bu tai hdo méi you gian

CEHARREF | BEARKE / BB HKecooo00 )

ké lun pd de tian qi zén me zhé me re
b) BRI RIEBEAXAR? Why is the weather so hot in Colombo

zhe shl zui ré de ji jié zui Jln méi you xia yu

,mmé"ﬂ / Hi /ljﬁ—l_l:ﬁooooooo )
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zu6 tidn ni zén me méi lai xué xiao

E’F KIRELEKZER, Why didn’t you come to school yesterday?

shéngbing le jia li you shi qu 10 yéu le

(E%7T | REFFE /| ERF T cooooo)

zu6 tidn ni menzén me méi qu da lan qid

) FERRNIE AR EFTIEER?  Why didn’t you play basketball yesterday?

zué tian xia yu le méi you shi jian

(FERTWTY / ZENEo0000)

3. EJ@EE Reduplication of measure words

“AA #B.00000 7 It means “every/each”. Usually followed by #F

tongxué men ge gé dou hén gaoxing

a) RFMNIMNTERS.

zhé ge shangdian de yi fu jian jian do hénpiaoliang
N SR
b) XA B IENRRAFHERES
zhé ge xing qi tidntian dou chi yang rou

c) XPMEMRREBZEN.,

Homework:
jian jian tian tian bén bén ge geé
(i PP PV b
ta dou qu xué xiaoshang ke td de yi fu dou hén piaoliang
a) fhi__ EEFR LR b) #EYAR___ #HRE=.
tong xué men dou hui shudé han yu ta de shia déu hén gui

c) R4 =1 XIE, d) Ry $H___ #HR*E.

4., B Hoooooos FTMoecoooo thepairconjunction FEH + Cause, ATl + Effect

The full pattern & A...... Brid...... (yinwei... sudyi...) is used to clearly indicate cause and
effect. They could be thought of as equating to: "Since ___ happened, so ___ happened." It sounds
weird to use both "since" and "so" in one sentence in English, but it makes everything crystal clear

in Chinese.

‘ B A + Cause, PFrld + Effect ‘

This expresses that because of cause, therefore there is a result. Examples

U)lﬁﬁi%? mu % R,
(2) BHGERES, Fbl 5 iRE .
(3) BAHE R, FrRIER = TER.

(4) AATRER, FrABIKE.
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Questions about text (write out your answers please)

Text 1:

1
2
3
4

~— ~— ~— ~—

A BB AY

INES R ARHERFR?
BEAFBNERT?
IO BT ERIERT

Text 2:

1)
2)
3)

A
B E
B

RESROFREAR?
Bz I A?

K4

Text 3:

1)
2)
3)

MERMMNEIT T EFRE? IHAY

B EERRERML T 47
B & Hkg?

Text 4:

£y
2)
3)
4)

S X AREINGK 757
INSREBBIL T ?

INSR AT A
INSKAYEHSHERR LY
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=. XF
di ti 2 e Jing
1. JhiE=F: {7 door ¥ sheep

han zi pianpang

'] =
2. XFER =

1) 3 KAZE: is related to animals

mao gbu
5%‘1‘ cat %] dog
5&1 Z"J
xidng nian
2) i ILFIR: 18 think 7 miss




